:117n9-8 9°3n-83-217

.327x+870y = 66 IRIWNY (277W2) *9907 NS DR XY .1

.X=88+290k,y=-33-109k ke Z

d =3731r +1894s 2 WX 38T d = ged(3731,7894) NX R¥n .2
7894 =3731%2 + 432
3731=432%8+275
432 =275%1+157
275=157*1+118
157 =118*1+39
118 =39*3+1

1=118-39*3=118-(157-118)=2*118-157=2*(275-157)-157=2*275-3*157
=2%275-3(432-275)=3%275-3%432=3%*(3731-432*8)-3*%432=3*3731-27%*432
=3%3731-27(7894 -3731*2) =57*3731-27*789%4

Ah 1611 13 5w 097 3w w2 IR ,20 097 5 IR0 2IRWD 317 017 .
NRT MWY? 1YY PR

5=16-6-13-7

cnxavn 4
68'”(mod7) .a
6:17709

66" (mod19) b
2:7709

a>0 9 Maw axn rwxl mi).a’ =a(mod7) 0<a<6 Mww R S5
(a°=1(mod7)
1°=1=1(mod 7)
2° =64 =1(mod7)
a” =(@%)"-a=1"-a=a(mod7) a>0 3% 1 3'=(37'=9" =2 =8=1(mod7)
4% = (=3)° =3° =1(mod 7)
5¢ = (-2)° =2° = I(mod 7)
6° = (-1)° =1=1(mod7)

13" (mod25) 1 .6




